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1. How many types of intelligence 
did Thorndike identify? 
(A)   4 
(B) 3 
(C) 2 
(D) 7 

 1. FkkuZMkbd us cqf) ds fdrus izdkj crk,a\ 

(A) 4 
(B) 3 
(C) 2 
(D) 7 

2. Who did the first standardization 
of the Binet intelligence test in 
Indian Conditions? 
(A)   C.H. Rice 
(B) M.C. Joshi 
(C) S. Jalota 
(D) C.M. Bhatia 

 2. Hkkjrh; ifjfLFkfr;ksa esa fcus dh cqf) ijh{k.k 

dk lcls igys izek.khdj.k fdlus fd;k\ 

(A) lhŒ,pŒ jkbl 

(B) ,eŒlhŒ tks’kh 

(C) ,lŒ tyksVk 

(D) lhŒ,eŒ HkkfV;k 

3. A student fails in the examination 
and attributes his failure to the 
framing of faulty question paper. 
which defence mechanism does he 
use? 
(A)   Identification 
(B) Compensation  
(C) Rationalization 
(D) Projection 

 3. ,d Nk+= ijh{kk esa vlQy gksus ij viuh 

vlQyrk dk dkj.k iz’u i= ds xyr <ax 

ls cus gksus dks ekurk gS];g fdl rjg dh 

j{kkRed ;qfDr gS\ 

(A) rknkRE; LFkkfir djuk 

(B) {kfriwfrZ 

(C) vkSfpR; LFkkiuk 

(D) iz{ksi.k 

4. A Student aspires to get ‘A’ in his 
school final examination, which of 
the following will best explain his 
motivation? 
(A)   Need for achievement  
(B) Need for affiliation  
(C) Need for actualization 
(D) None of these 

 4. ,d Nk= fo|ky; dh vfUre ijh{kk esa‘A’  

izkIr djus dh vkdak{kk j[krk gSA mlds 

vfHkizsj.kk dks fuEu esa ls dkSu csgrj <ax ls 

O;Dr djrk gS\ 

(A) miyfC/k dh vko’;drk 

(B) ;FkkFkhZdj.k dh vko’;drk 

(C) lEc)hdj.k dh vko’;drk 

(D) buesa ls dksbZ ugha 
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5. Which of the following is an 

important feature of creativity? 

(A)   Hyperactivity 

(B) Inattentiveness 

(C) Low comprehension 

(D) Divergent Thinking  

 5. fuEu esa ls dkSu l̀tukRedrk dh ,d 

egRoiw.kZ fo’ks”krk gS\  

(A) vfr lfØ; 

(B) ykijokg 

(C) fuEu vocks/k 

(D) vilkjh fpUru 

6. Which of the following is a 

dimension of creativity? 

(A)   Collaboration 

(B) Elaboration 

(C) Feasibility 

(D) None of these 

 6. fuEu esa ls dkSu l̀tukRedrk dh ,d foHkk 

gS\ 

(A) lg;ksx 

(B) foLrkj.k 

(C) lk/;rk 

(D) buesa ls dksbZ ugha 

7. When a person weeps to get relief, 

this behaviour involves? 

(A)   Rationalization 

(B) Regression 

(C) Repression 

(D) Compensation 

 7. tc dksbZ O;fDr nq[kn vuqHkwfr ls eqfDr ikus 

ds fy, jksus yxrk gS rc mlds O;ogkj esa 

D;k lfEefyr gksrk gS\ 

(A) vkSfpR; LFkkiuk 

(B) izfrxeu 

(C) neu 

(D) {kfriwfrZ 

8. Which of the following is not a 

major law of learning? 

(A)   Law of Exercise 

(B) Law of Effect 

(C) Law of Analogy 

(D) Law of Readiness 

 8. fuEu esa ls dkSu lh[kus dk eq[; fu;e ugha 

gS\ 

(A) vH;kl dk fu;e 

(B) izHkko dk fu;e 

(C) lkn’̀;rk dk fu;e 

(D) rRijrk dk fu;e 
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9. Negative reinforcement is- 

(A)   Whose presence increases the 

probability of the desired 

response   

(B) Whose presence decreases 

the probability of the desired 

response  

(C) Whose absence increases the 

probability of the desired 

response 

(D) Whose absence decreases the 

probability of the desired 

response    

 9. udkjkRed iqucZyu gS& 

(A) ftldh mifLFkfr ls okafNr vuqfØ;k 

dh lEHkkouk c<+ tkrh gSA 

(B) ftldh mifLFkfr ls okafNr vuqfØ;k 

dh lEHkkouk de gks tkrh gSA 

(C) ftldh vuqifLFkfr ls okafNr 

vuqfØ;k dh lEHkkouk c<+ tkrh gSA 

(D) ftldh vuqifLFkfr ls okafNr 

vuqfØ;k dh lEHkkouk de gks tkrh 

gSA 

10. Functions of mental Hygiene are- 

(A)   Maintenance of Mental 

Health 

(B) Prevention of Mental 

Disorders 

(C) Treatment of Mental 

Disorders  

(D) All of the above 

 10. ekufld LokLF; foKku ds dk;Z gSa& 

(A) ekufld LokLF; dh j{kk djuk 

(B) ekufld jksxksa dh jksdFkke djuk 

(C) ekufld jksxksa dk mipkj djuk 

(D) mijksDr lHkh 

11. Phobia is- 

(A)   Abnormal fear 

(B) Regression 

(C) Feeling Inferior 

(D) Anxiety  

 11. Qksfc;k gS& 

(A) vlkekU; Mj 

(B) izrh;xeu 

(C) vius dks derj le>uk 

(D) fpUrk 
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12. Mental Health is- 

(A)   Formal level of cognitive 

Development  

(B) Full Harmonious functioning 

of the whole personality  

(C) Increasing mental ability 

(D) None of these 

 12. ekufld LokLF; gS& 

(A) laKkukRed fodkl dk vkSipkfjd 

Lrj  

(B) lEiw.kZ O;fDrRo dk iw.kZ lkeatL; ds 

lkFk dk;Z djuk 

(C) ekufld ;ksX;rk esa òf) 

(D) mijksDr esa ls dksbZ ugha 

13. At what stage is the tendency for 

delinquent behaviour more 

pronounced?    

(A)   Infancy 

(B) Childhood 

(C) Adolescence  

(D) Old age 

 13. fdl voLFkk esa vijk/kh O;ogkj dh izòfÙk 

vf/kd Li”V gksrh gS\ 

(A) ‘kS'kokoLFkk  

(B) ckY;koLFkk 

(C) fd’kksjkoLFkk 

(D) ò)koLFkk 

14. Army Alpha Test is a- 

(A)   Verbal Intelligence Test 

(B) Non-Verbal Intelligence Test 

(C) Picture – Completion Test 

(D) Mazes Test 

 14. vkehZ vYQk ijh{k.k gS& 

(A) ‘kkfCnd cqf) ijh{k.k 

(B) v’kkfCnd cqf) ijh{k.k 

(C) fp=iwfrZ ijh{k.k 

(D) HkwyHkqyS;k ijh{k.k 

15. The main purpose of 

brainstorming is- 

(A)   To solve problems 

(B) To generate creative ideas  

(C) Conflict resolution 

(D) Identification of backward 
children  

 15. efLr”d m}syu dk eq[; mn~ns’; gS& 

(A) leL;kvksa dk gy djuk 

(B) l̀tukRed fopkjksa dks mRiUu djuk 

(C) fooknksa dks gy djuk 

(D) fiNM+s cPpksa dh igpku djuk 
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16. Which method provides better 

learning opportunities to the 

students taking into account the 

individual differences? 

(A)   Lecture method 

(B) Demonstration Method 

(C) Inductive Method 

(D) Programmed Instruction 

 16. O;fDrxr fHkUurk dks /;ku esa j[krs gq, dkSu 

lh fof/k Nk=ksa dks lh[kus ds csgrj volj 

iznku djrh gS\ 

(A) O;k[;ku fof/k 

(B) izn’kZu fof/k 

(C) vkxeu fof/k 

(D) vfHkØfer vuqns’ku 

17. Which learning is Gagne’s 

learning hierarchy is related to 

Pavlov’s conditioning theory?   

(A)   Signal Learning 

(B) Concept Learning 

(C) Rule Learning 

(D) Chain Learning  

 17. xSus ds vf/kxe inkuqØe esa dkSu lk vf/kxe 

ikoyko ds vuqcU/ku fl)kUr ls lEcfU/kr 

gS\ 

(A) ladsr vf/kxe 

(B) lEizR;; vf/kxe 

(C) fu;e vf/kxe 

(D) Jà[kyk vf/kxe 

18. What is not true about 

intelligence?   

(A)   Intelligence in the ability to 

learn.  

(B) Intelligence is the ability of 

adjusting to new situations.  

(C) Intelligence is an acquired 

ability. 

(D) Intelligence is a way of 
acting. 

 18. cqf) ds ckjs esa D;k lR; ugha gS\ 

(A) cqf) lh[kus dh ;ksX;rk gSA 

(B) cqf) uohu ifjfLFkfr;ksa esa lek;kstu 

dh ;ksX;rk gSA 

(C) cqf) ,d vftZr ;ksX;rk gSaA 

(D) cqf) dk;Z djus dh fof/k gSA 
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19. According to Cattell the most 

important stage of personality 

development is- 

(A)   Infancy 

(B) Childhood 

(C) Adolescence  

(D) Adulthood 

 19. dSVy ds vuqlkj O;fDrRo fodkl dh lcls 

egRoiw.kZ voLFkk gksrh gS& 

(A) ‘kS’kokoLFkk 

(B) ckY;koLFkk 

(C) fd’kksjkoLFkk 

(D) izkS<koLFkk 

20. Which development stage is called 

the stage of consolidation? 

(A)   Infancy  

(B) Childhood 

(C) Adolescence 

(D) Old age 

 20. fdl fodklkRed voLFkk dks ǹ<+hdj.k dh 

voLFkk dgk tkrk gS\ 

(A) ‘kS’kokoLFkk 

(B) ckY;koLFkk 

(C) fd’kksjkoLFkk 

(D) ò)koLFkk 

21. Kohler belongs to learning theory- 

(A)   Behaviourism 

(B) Gestalt 

(C) Humanism 

(D) Constructivism  

 21. dksgyj lh[kus ds fdl rjg ds fl)kUr ls 

lEcfU/kr gSa& 

(A) O;ogkjokn 

(B) lexzokn 

(C) ekuookn 

(D) lajpukokn 

22. ‘The principles of psychology’ a 

book is written by- 

(A)   William Wundt 

(B) William Wordsworth 

(C) William James 

(D) William Stern 

 22. *n fizafliYl vkWQ lkbdksykWTkh* iqLrd ds 

ys[kd gSa& 

(A) fofy;e oq.MV 

(B) fofy;e oMZ~loFkZ 

(C) fofy;e tsEl 

(D) fofy;e LVuZ 
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23. Who propounded the concept of 

mental age? 

(A)   J.P. Guilford  

(B) Jean Piaget 

(C) R.B. Cattell 

(D) Alfred Binet 

 23. fdlus ekufld vk;q ds lEizR;; dk 

izfriknu fd;k\ 

(A) tsŒihŒ fxyQksMZ 

(B) thu fi;kts 

(C) vkjŒchŒ dSVy 

(D) vYÝsM fcus 

24. What is a major criticism of 

Kohlberg’s theory of moral 

development?  

(A)   He proposed a theory without 

any empirical basis 

(B) He proposed that moral 

reasoning is developmental  

(C) He did not give clear cut 

stages of moral development  

(D) He did not account for 

cultural difference in moral 

reasoning of men and 

women.  

 24. dksgycxZ ds uSfrd fodkl ds fl)kUr dh 

,d izeq[k vkykspuk D;k gS\ 

(A) mlus fcuk fdlh vuqHkotU; vk/kkj 

ds ,d fl)kUr izLrqr fd;k 

(B) mlus dgk fd uSfrd rdZ 

fodklkRed gS 

(C) mlus uSfrd fodkl ds Li”V pj.k 

ugha fn;s 

(D) mlus iq:”kksa vkSj efgykvksa ds uSfrd 

rdZ esa lkaLÑfrd vUrj dks egRo 

ugha fn;k 

25. Gagne is well known for which of 

the following works? 

(A)   Conditioning Theory of 

learning  

(B) Law of learning 

(C) Conditions of learning  

(D) Re enforcement theory 

 25. xSus fuEufyf[kr esa ls fdl dk;Z ds fy, 

izfl) gSa\ 

(A) lh[kus ds vuqcU/ku fl)kUr 

(B) lh[kus ds fu;e 

(C) lh[kus dh ifjfLFkfr;k¡ 

(D) iqucZyu fl)kUr 
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26. Gestalt theory of learning is based 

on the idea of- 

(A)   Introspection 

(B) Meditation 

(C) Concentration 

(D) Perception 

 26. lh[kus dk xsLVkYV fl)kUr fdl fopkj ij 

vk/kkfjr gS& 

(A) vUr% fujh{k.k 

(B) /;ku 

(C) ,dkxzrk 

(D) izR;{k.k 

27. At which stage most of the child’s 

behaviour is based on basic 

instincts? 

(A)   Infancy 

(B) Childhood 

(C) Adolescence  

(D) Adulthood 

 27. fdl voLFkk esa ckyd dk vf/kdka’k O;ogkj 

ewy izòfÙk;ksa ij vk/kkfjr gksrk gS\ 

(A) ‘kS'kokoLFkk  

(B) ckY;koLFkk 

(C) fd’kksjkoLFkk 

(D) izkS<+koLFkk 

28. The concept of ‘Private speech’ of 

children as proposed by Vygotsky-  

(A)   Shows that children love 

themselves. 

(B) Illustrates that children use 

speech to guide their own 

action. 

(C) Illustrate that children are 

egocentric. 

(D) Shows that children are 

stupid. 

 28. O;xksRLdh ds vuqlkj cPpksa dk *futh 

lEHkk”k.k*& 

(A) ;g iznf’kZr djrk gS fd os [kqn ls 

izse djrs gSaA 

(B) ;g crkrk gS fd cPps vius bl 

lEHkk”k.k ls viuh fØ;kvksa dks 

funsZf’kr djrs gSaA 

(C) ;g crkrk gS fd cPPks vkRedsfUnzr gSaA 

(D) ;g iznf’kZr djrk gS fd cPps ew[kZ gSaA 
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29. Who first used the term mental 

test? 

(A)   Galton 

(B) Cattell 

(C) Binet  

(D) Terman 

 29. ekufld ijh{k.k ‘kCn dk iz;ksx lcls igys 

fdlus fd;k\ 

(A) xkYVu 

(B) dSVy 

(C) fcus 

(D) VjeSu 

30. The term intelligence quotient was 
introduced by- 
(A)   L. M. Terman 
(B) J. P. Guilford 
(C) Alfred Binet 
(D) William Stern 

 30. cqf)yfC/k ‘kCn fdlds }kjk loZizFke izLrqr 

fd;k x;k& 

(A) ,yŒ,eŒVEkZu 

(B) tsŒihŒfxyQksMZ 
(C) vYÝsM fcus 

(D) fofy;e LVUkZ 
31. Thorndike did his main experiment 

of learning on- 
(A)   Dog 
(B) Monkey 
(C) Rat 
(D) Cat 

 31. FkkuZMkbd us lh[kus ls lEcfU/kr viuk eq[; 

iz;ksx fdl ij fd;k Fkk& 

(A) dqÙkk 

(B) cUnj 
(C) pwgk 
(D) fcYyh 

32. Which of the following is not true 
about cognitive development 
theory of Piaget? 
(A)   It believes that development 

is a continuous process. 
(B) It assumes that children learn 

through assimilation and 
accommodation. 

(C) It believes that cognitive 
development takes place in 
four stages. 

(D) Equilibration is a self-
regulatory process.  

 32. fuEu esa ls dkSu lk dFku fi;kts ds 

laKkukRed fodkl ds fl)kUr ds fy, lgh 

ugha gS\ 

(A) ;g fo’okl djrh gS fd fodkl ,d 

lrr~ izfØ;k gSA 
(B) ;g ekurh gS fd cPps vkRelkrhdj.k 

o lek;kstu }kjk lh[krs gSaA 
(C) ;g fo’okl djrh gS fd laKkukRed 

fodkl pkj pj.kksa esa gksrk gSA 
(D) lkE;/kkj.k ,d vkRe fu;a=d izfØ;k 

gSA 
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33. According to wood worth 

development is- 

(A)   Product of heredity and 

Environment  

(B) Sum of Heredity and 

Environment 

(C) Both (A) and (B) 

(D) None of these 

 33. oqMoFkZ ds vuqlkj fodkl gS& 

(A) vkuqokaf’kdrk vkSj i;kZoj.k dk 

xq.kuQy  

(B) vkuqokaf’kdrk vkSj i;kZoj.k dk ;ksx 

(C) (A)o (B)nksuksa 

(D) buesa ls dksbZ ugha 

34. Who described spatial intelligence 

as a type of intelligence? 

(A)   Spearman 

(B) Guilford 

(C) Cattell 

(D) Gardner 

 34. fdlus LFkkfud cqf) dks cqf) dk ,d izdkj 

crk;k\ 

(A) Lih;jeSu 

(B) fxyQksMZ 

(C) dSVy 

(D) xkMZuj 

35. In which theory of learning do 

psychologists associate ‘aha 

experience’ with learning? 

(A)   Behaviourist theory 

(B) Psycho-analytical theory 

(C) Insight theory 

(D) Humanistic theory 

 35. lh[kus ds fdl fl)kUr esa euksoSKkfud *vgk 

vuqHko* dks lh[kus ls tksM+rs gaS\ 

(A) O;ogkjoknh fl)kUr 

(B) euks fo’ys”k.k oknh fl)kUr 

(C) lw> fl)kUr 

(D) ekuooknh 

36. Who propounded the classical 

conditioning theory? 

(A)   Skinner 

(B) Pavlov 

(C) Thorndike 

(D) Watson 

 36. ‘kkL=h; vuqcU/ku dk fl)kUr fdlus fn;k\ 

(A) fLduj 

(B) ikoyko 

(C) FkkuZMkbd 

(D) okVlu 
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37. The name closely associated with 

moral development is- 

(A)   Vygotsky 

(B) Kohler 

(C) Maslow 

(D) Kohlberg 

 37. uSfrd fodkl ls ?kfUk”B :i ls tqM+k uke 

gS& 

(A) O;xksRLdh 

(B) dksgyj 

(C) ekLyks 

(D) dksgycxZ 

38. If mental age of a person is greater 

than his / her chronological age, 

then I.Q. of this person will be- 

(A)   100 

(B) Less than 100 

(C) More than 100 

(D) None of these 

 38. ;fn fdlh O;fDr dh ekufld vk;q mlds 

okLrfod rSfFkd vk;q ls vf/kd gS] rks ml 

O;fDr dh cqf)yfC/k gksxh& 

(A) 100 

(B) 100 ls de 

(C) 100 ls vf/kd 

(D) buesa ls dksbZ ugha 

39. Fitting new information into 

existing Scheme is known as: 

(A)   Accommodation 

(B) Assimilation 

(C) Disequilibrium 

(D) Organization 

 39. ekStwnk Ldhe esa ubZ tkudkjh j[kuk dgk 

tkrk gS % 

(A) lek;kstu 

(B) vkRelkrdj.k 

(C) vlarqyu 

(D) laxBu 

40. Spearman propounded theory of 

intelligence- 

(A)   Two factor 

(B) Multi factor 

(C) Group factor 

(D) Multiple Intelligence 

 40. Lih;jeSu us cqf) dk dkSu lk fl)kUr 

fn;k& 

(A) f}dkjd  

(B) cgqdkjd 

(C) lewg dkjd 

(D) cgq&cqf) 
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41. Who constructed the first 

standardized intelligence test? 

(A)   Binet-Simon 

(B) Terman 

(C) Thrustone  

(D) Wechsler 

 41. izFke ekudhÑrcqf) ijh{k.k dk fuekZ.k 

fdlus fd;k\ 

(A) fcus&lkbeu 

(B) VeZu 

(C) FkLVZu 

(D) oS’yj 

42. Morality based on rules 

established by others in called- 

(A)   Autonomous morality 

(B) Heteronomous morality  

(C) Moral equality 

(D) None of these 

 42. nwljksa }kjk LFkkfir fu;eksa ij vk/kkfjr 

uSfrdrk dks dgrs gS& 

(A) LouSfrdrk 

(B) fo”ke uSfrdrk 

(C) uSfrd lekurk 

(D) buesa ls dksbZ ugha 

43. To which language does the word 

‘Persona’ belong? 

(A)   Greek 

(B) English 

(C) French 

(D) Latin 

 43. *ilksZuk* fdl Hkk”kk dk ‘kCn gS\ 

(A) ;wukuh 

(B) vaxszth 

(C) ÝsUp 

(D) ySfVu 

44. How many types of personalities 

have been given by Sheldon on the 

basis of physique? 

(A)   2 

(B) 3 

(C) 4 

(D) 16 

 44. ‘kSYMu us ‘kkjhfjd xBu ds vk/kkj ij 

O;fDrRo ds fdrus izdkj crk;sa\ 

(A) 2 

(B) 3 

(C) 4 

(D) 16 
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45. All port said the integration and 

Consistency of traits-  

(A)   Disposition 

(B) Identity 

(C) Proprium 

(D) Image 

 45. ‘khyxq.kksa ds leUo; rFkk laxrrk dks 

vkyiksVZ us dgk& 

(A) izòfÙk 

(B) igpku 

(C) viukiu 

(D) izfrek 

46. The upper part of body develops 

earlier than the lower part is 

termed as. 

(A)   Proximodistal Tendency 

(B) Cephalocaudal Sequence  

(C) Spiral development 

(D) None of these 

 46. tc fupys fgLls dh rqyuk esa ‘kjhj ds 

Åijh fgLls dk fodkl igys gksrk gS] rks 

mls dgk tkrk gS& 

(A) lehiLFk izòfÙk 

(B) eLrdk|kseq[kh Øe 

(C) orqZykdkj fodkl 

(D) buesa ls dksbZ ugha 

47. Who has classified introvert and 

extrovert personality?   

(A)   Allport 

(B) Jung 

(C) Freud 

(D) Adler 

 47. fdlus vareqZ[kh vkSj cfgeqZ[kh O;fDrRodk 

oxhZdj.k fd;k\ 

(A) vkyiksVZ 

(B) tax 

(C) Ýk;M 

(D) ,Myj 
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48. Which of the following is not the 

characteristic of introvert 

personality?  

(A)   Day dreamer 

(B) Shy 

(C) Anxious 

(D) Aggressiveness 

 48. fuEu esa ls dkSu vUreqZ[kh O;fDRkRo dh 

fo’ks”krk ugha gS\ 

(A) fnokLoIu ns[kus okyk 

(B) ‘kehZyk gksuk 

(C) fpUrkxzLr 

(D) vkØkedrk 

49. Individual differences between 

two persons can be due to- 

(A)   Conflict between then 

(B) Dissimilarities between their 

personalities  

(C) Uniformity of personality 

among human beings 

(D) None of these 

 49. nks O;fDRk;ksa ds chp oS;fDrd fHkUurkgksus dk 

D;k dkj.k gks ldrk gS& 

(A) muds chp Vdjko 

(B) muds O;fDRo esa vlekurk 

(C) ekuo tkfr ds O;fDrRo esa lekurk 

(D) beusa ls dksbZ ugha 

50. Which of the following are helpful 

for transfer of learning- 

(A)   Teaching Method 

(B) Generalization 

(C) Understanding 

(D) All of the above 

 50. lh[kus ds LFkkukUrj.k esa lgk;d gSa& 

(A) f’k{k.k fof/k 

(B) lkekU;hdj.k 

(C) le> 

(D) mijksDr lHkh 
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51. Four distinct stages of cognitive 

development are identified by- 

(A) Kohlberg 

(B) Vygotsky 

(C) Piaget 

(D) Skinner 

 51. laKkukRed fodkl ds pkj vyx&vyx 

Lrjksa dh igpku dh& 

(A) dksgycxZ us 

(B) O;xksRLdh us 

(C) fi;kts us 

(D) fLduj us 

52. Who was the founder of 

Behaviourism? 

(A)   Thorndike  

(B) Watson 

(C) Skinner 

(D) Pavlov 

 52. O;ogkjokn dk tud dkSu Fkk\ 

(A) FkkuZMkbd 

(B) okVlu 

(C) fLduj 

(D) ikoyko 

53. Who established the first 

psychological laboratory? 

(A)   William James 

(B) William Wordsworth 

(C) William Smith 

(D) William Wundt 

 53. igyh euksoSKkfud iz;ksx’kkyk fdlus 

LFkkfir dh\ 

(A) fofy;e tsEl 

(B) fofy;e oMZ~loFkZ 

(C) fofy;e fLEkFk 

(D) fofy;e oq.MV 

54. Oedipus complex is related with- 

(A)   Male child 

(B) Female child 

(C) All children 

(D) None of these 

 54. vksMhil Hkkouk xzfUFk lEcfU/kr gS& 

(A) yM+dksa ls 

(B) yM+fd;ksa ls 

(C) lHkh cPPkksa ls 

(D) buesa ls dksbZ ughas 
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55. Who usually controls language 

development? 

(A)   Right hemisphere  

(B) Left hemisphere  

(C) Cerebellum  

(D) Corpus Callosum  

 55. Hkk”kk fodkl dk fu;a=.k lkekU;r% dkSu 

djrk gS\ 

(A) nk;k¡ xksyk)Z 

(B) ck;k¡ xksyk)Z 

(C) y?kqefLr”d 

(D) dkSjil dSykste 

56. What is the similarity in heredity 

of identical twins? 

(A)   100% 

(B) 50% 

(C) 80% 

(D) 60% 

 56. ,dkadh tqM+ok cPpksa dh vkuqokaf’kdrk esa 

fdruh lekurk gksrh gS\ 

(A)   100% 

(B) 50% 

(C) 80% 

(D) 60% 

57. What type of motive is hunger? 

(A)   Acquired 

(B) Primary 

(C) Secondary 

(D) Sociogenic 

 57. Hkw[k fdl izdkj dk vfHkiszjd gS\ 

(A) vftZr 

(B) izkFkfed 

(C) f}rh;d 

(D) lkekftd 

58. Need is- 

(A)   Deficiency of something in 

body  

(B) Excess of something in body 

(C) Deficiency or Excess of 

something in body 

(D) None of these 

 58. vko’;drk gS& 

(A) ‘kjhj esa fdlh pht dh deh 

(B) ‘kjhj esa fdlh pht dh vf/kdrk 

(C) ‘kjhj esa fdlh pht dh deh ;k 

vf/kdrk 

(D) buesa ls dksbZ ugha 
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59. Which Statement is true regarding 

need and drive? 

(A)   Both are synonyms 

(B) Both are parallel  

(C) There is no relation between 

these two terms 

(D) None of the above statements 

are true 

 59. vko’;drk vkSj iz.kksn ds lEcU/k esa dkSu lk 

dFku lR; gS\ 

(A) nksuksa lekukFkhZ gSa 

(B) nksuksa lekUrj gSa 

(C) nksuksa inksa ds e/; vkil esa dksbZ 

lEcU/k ugha gSa 

(D) mijksDr esa ls dksbZ dFku lR; ugha gS 

60. The fourth element of the 

cognitive motivational cycle in 

human is- 

(A)   Learning 

(B) Achievement  

(C) Cognition 

(D) Existence 

 60. ekuo ds laKkukRed vfHkizsj.kkRed pØ esa 

pkSFkk rRo gS& 

(A) vf/kxe 

(B) miyfC/k 

(C) laKku 

(D) vfLRkRo 

61. Which stage is called the stage of 

pseudo maturity? 

(A)   Infancy 

(B) Childhood 

(C) Adolescence 

(D) Adulthood 

 61. fdl voLFkk dks feF;k ifjiDork dh 

voLFkk dgk tkrk gS\ 

(A) ‘kS'kokoLFkk 

(B) ckY;koLFkk 

(C) fd’kksjkoLFkk 

(D) izkS<+koLFkk 

62. Who gave the theory of Identical 

elements of transfer of learning? 

(A)   Thorndike 

(B) Spearman 

(C) Crow and crow  

(D) Guilford 

 62. lh[kus ds LFkkukUrj.k lEcU/kh leku rRoksa 

dk fl)kUr fdlus fn;k\ 

(A) FkkuZMkbd  

(B) Lih;jeSu 

(C) Øks ,oa Øks 

(D) fxyQksMZ 
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63. If the thing learned Earlier starts to 

be forgotten due to the thing 

learned later, then it is called- 

(A)   Pro-active Negative transfer 

of learning  

(B) Retro-active Negative 

transfer of learning  

(C) Lateral transfer of Learning 

(D) Bi-lateral transfer of Learning 

 63. igys lh[kh x;h dksbZ pht ckn esa lh[kh 

x;h phtksa ds dkj.k Hkwyus yxrh gS rks mls 

dgrs gS& 

(A) izfry{kh udkjkRed LFkkukUrj.k 

(B) iwoZy{kh udkjkRed LFkkukUrj.k 

(C) ikf’oZd LFkkukUrj.k 

(D) f} ikf’oZd LFkkukUrj.k 

64. Narcissism means- 

(A)   Auto-eroticism 

(B) Homo-sexuality 

(C) Hetero-sexuality 

(D) Love for all 

 64. uklhZflTe dk rkRi;Z gS& 

(A) Lo&dkeqdrk 

(B) le fyaxh dkeqdrk 

(C) fo”ke fyaxh dkeqdrk 

(D) lHkh ds fy, izse 

65. ‘Building’ an air palace’ is an 

example of- 

(A)   Anxiety 

(B) Identification 

(C) Regression 

(D) Day-dreaming 

 65. *gokbZ egy cukuk* fdldk mnkgj.k gS& 

(A) fpUrk 

(B) rknkRE; LFkkfir djuk 

(C) izfrxeu 

(D) fnok&LoIu 

66. According to Piaget the third stage 

of cognitive development is- 

(A)   Sensory motor  

(B) Concrete operational 

(C) Formal operational 

(D) Pre-operational 

 66. fi;kts ds laKkukRed fodkl Lrj dk rr̀h; 

Lrj gS& 

(A) laosnh xked 

(B) ewrZ ls fØ;kRed 

(C) vkSipkfjd lafØ;kRed 

(D) iwoZ&lafØ;kRed 



Series-B BED-103/ 656 Page - 21 

67. The proverb ‘Do not know how to 

dance, but to say that the courtyard 

is crooked’ is an example of-  

(A)   Aggressive Method 

(B) Projection 

(C) Repression 

(D) Becoming dependent 

 67. *ukp u vk;s* vk¡xu Vs<+k* dh dgkor ,d 

mnkgj.k gS& 

(A) vkØked mik; 

(B) iz{ksi.k 

(C) neu 

(D) vkfJr gksuk 

68. Causes of individual difference 

are- 

(A) Heredity 

(B) Environment 

(C) Age 

(D) All of these 

 68. oS;fDRkd fHkUurk ds dkj.k gS& 

(A) vkuqokaf’kdrk 

(B) okrkoj.k 

(C) vk;q 

(D) mijksDr lHkh 

69. “Adolescence is a period of great 

stress, strain, storm and strife” is 

said by- 

(A)   J.B. Watson 

(B) E.L.Thorndike 

(C) G.S. Hall 

(D) S. Freud 

 69. Þfd’kksjkoLFkk cM+s la?k”kZ ruko] rwQku rFkk 

fojks/k dh voLFkk gSß fdlus dgk& 

(A) tsŒchŒ okVlu 

(B) bZŒ,yŒ FkkuZMkbd 

(C) thŒ,lŒ gky 

(D) ,lŒ Ýk;M 

70. The number of dimensions in 

Guilford structure of intellect is? 

(A)   2 

(B) 3 

(C) 4 

(D) 5 

 70. fxyQksMZ ds cqf) lajpuk esa fdruh foek,a 

gSa\ 

(A) 2 

(B) 3 

(C) 4 

(D) 5 
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71. Which one of the following is not 

a characteristic of ‘G factor’ of 

two – factor theory? 

(A)   It is inborn ability  

(B) It is general mental ability 

(C) It is acquired from the 

environment  

(D) It is used more is daily life 

activities 

 71. fuEu esa ls dkSu f}dkjd fl)kUr ds *n 

dkjd* dh fo’ks”krk ugha gS \ 

(A) ;g tUetkr ;ksX;rk gSa 

(B) ;g lkekU; ekufld ;ksX;rk gS 

(C) ;g okrkoj.k ls vftZr gksrk gS 

(D) bldk nSfud thou ds dk;ksZa esa 

vf/kd mi;ksx gksrk gS 

72. Group factor theory of intelligence 

was given by? 

(A)   Spearman 

(B) Thorndike 

(C) Guilford 

(D) Thurstone 

 72. cqf) dk lewg dkjd fl)kUr fdlus fn;k\ 

(A) Lih;jeSu 

(B)  FkkuZMkbd 

(C) fxyQksMZ 

(D) FkLVZu 

73. Zone of proximal development is- 

(A)   The intelligence level of the 

child 

(B) What the child already knows 

(C) As much as the child can 

know  

(D) The gap between what the 

child can do on their own and 

what they Cannot do without 

assistance 

 73. lehiLFk fodkl {ks= D;k gS& 

(A) fdlh cPps dk ckSf)d Lrj 

(B) cPpk igys ls D;k tkurk gS 

(C) cPpk ftruk tku ldrk gS 

(D) cPpk Lo;a ftruk dj ldrk gS vkSj 

ftruk fcuk fdlh lgk;rk ds ugha 

dj ldrk] bu nksuksa ds chp dk 

vUrj 
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74. Tests that measure flexibility of 

thought are called- 

(A)   Divergent thinking Test  

(B) Convergent thinking Test 

(C) Inductive reasoning Test  

(D) Deductive reasoning Test 

 74. fopkjksa esaoSfo/; dk ekiu djus okyk ijh{k.k 

dgk tkrk gS& 

(A) vilkjh fpUru ijh{k.k 

(B) vfHklkjh fpUru ijh{k.k 

(C) vkxeu rdZ ijh{k.k 

(D) fuxeu rdZ ijh{k.k 

75. When a child faces difficulty in 

solving a problem, the teacher 

provides necessary prompts to 

overcome his difficulty, is called- 

(A)   Pear tutoring  

(B) Reinforcement  

(C) Scaffolding  

(D) Feedback 

 75. tc dksbZ cPpk fdlh leL;k dks gy djus 

esa dfBukbZ dk lkeuk djrk gS rks v/;kid 

mldh dfBukbZ dks nwj djus ds fy, mls 

vko’;d ladsr iznku djrk gS] bls D;k 

dgrs gS& 

(A) led{kh f’k{k.k 

(B) iqucZyu 

(C) epku fuekZ.k 

(D) izfriqf”V 

76. Vygotsky’s socio-cultural theory 

belongs to the school of 

psychology-  

(A)   Behaviourism 

(B) Gestaltism  

(C) Constructivism 

(D) Functionalism 

 76. O;xksRLdh dk lkekftd &lakLÑfrd fl)kUr 

fdl euksoSKkfud lEiznk; ls lEcfU/kr gS& 

(A) O;ogkjokn 

(B) lexzokn 

(C) lajpukokn 

(D) izdk;Zokn 
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77. Who propounded the theory of 

personality on the basis of 

expression of traits on bipolar 

dimensions? 

(A)   Eysenck 

(B) Allport 

(C) Freud 

(D) Jung 

 77. ‘khyxq.kksa dks f}/kzqoh; foekvksa ij O;Dr dj 

fdlus O;fDrRo dk fl)kUr fn;k\ 

(A) vkbtsUd 

(B) vkyiksVZ 

(C) Ýk;M 

(D) taqx 

78. If the means by which the goal 

was achieved becomes the goal, 

what is it called by Allport? 

(A)   Reinforcement  

(B) Reflex Action 

(C) Functional Autonomy  

(D) Common trait 

 78. ;fn ftl lk/ku }kjk y{; izkIr fd;k x;k 

Fkk] og [kqn y{; cu tk; rks bls vkyiksVZ 

us D;k dgk\ 

(A) iqucZyu 

(B) lgt fØ;k 

(C) dk;kZRed Lok;Ùkrk 

(D) lkekU; ‘khy xq.k 

79. Skinner worked on? 

(A)   Operant Conditioning  

(B) Classical Conditioning 

(C) Type-s Conditioning 

(D) Respondent Conditioning  

 79. fLduj us fdl ij viuk dk;Z fd;k\ 

(A) fØ;k izlwr vuqcU/ku 

(B) ‘kkL=h; vuqcU/ku 

(C) Sizdkj dk vuqcU/ku 

(D) izfroknh vuqcU/ku 

80. Development is a- 

(A)   Progressive series of change   

(B) Retrogressive series of 

change 

(C) Type of Growth 

(D) All of these 

 80. fodkl gS-& 

(A) ifjorZu dh izxfr’khy Jà[kyk 

(B) ifjorZu dh izfrxkeh J̀a[kyk 

(C) vfHkòf) dk izdkj 

(D) buesa ls lHkh 
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81. Who first used the formula of 

intelligence quotient?  

(A)   Binet 

(B) Terman 

(C) Guilford 

(D) Cattell 

 81. cqf) yfC/k ds lw= dk mi;ksx lcls igys 

fdlus fd;k\ 

(A) fcus 

(B) VEkZu 

(C) fxyQksMZ 

(D) dSVy 

82. Who first gave the theory of moral 

development? 

(A)   Jean Piaget 

(B) Lawrence Kohlberg 

(C) Jerome Bruner 

(D) Wolfgang Kohler 

 82. uSfrd fodkl dk lcls igys fl)kUr 

fdlus fn;k\ 

(A) thu fi;ktsa 

(B) ykjsUl dksgycxZ 

(C) thjkse czwuj 

(D) oksYQxSax dksgyj 

83. Which factor did Vygotsky 

consider most important for 

learning? 

(A)   Physical  

(B) Emotional 

(C) Moral 

(D) Social 

 83. O;xksRLdh us lh[kus ds fy, fdl dkjd dks 

lcls egRoiw.kZ ekuk\ 

(A) ‘kkjhfjd 

(B) lkaosfxd 

(C) uSfrd 

(D) lkekftd 

84. Which is not a dimension of 

creativity?  

(A)   Punctuality 

(B) Flexibility  

(C) Originality 

(D) Fluency 

 84. l̀tukRedrk dh dkSu ,d foek ugha gS\ 

(A) fu;ferrk 

(B) fofo/krk 

(C) ekSfydrk 

(D) izokg 
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85. The determining factor of 
Personality is- 
(A)   Biological factors 
(B) Environmental factors   
(C) Both (A) and (B) 
(D) None of the above 

 85. O;fDrRo dk fu/kkZjd dkjd gS& 

(A) tSfod dkjd 

(B) i;kZoj.kh; dkjd 

(C) (A)vkSj (B) nksuksa 

(D) mijksDr esa ls dksbZ ugha 

86. “Personality is the dynamic 
organization within the individual 
of those psychophysical systems 
that determine his characteristic 
behaviour and thought”. who said 
this-  
(A)   Eysenck 
(B) Guilford 
(C) Cattell 
(D) Allport 

 86. ÞO;fDrRo O;fDr ds vUnj mu euks’kkjhfjd 

rU=ksa dk xR;kRed laxBu gS tks mlds 

fof’k”V O;ogkj vkSj fopkjksa dk fu/kkZj.k 

djrk gSß ;g fdlus dgk& 

(A) vkbtsUd 

(B) fxyQksMZ 

(C) dSVy 

(D) vkyiksVZ 

87. Which of the following was not a 
type of intelligence in Gardner’s 
intelligence theory?   
(A)   Musical intelligence 
(B) Linguistic intelligence  
(C) Logical-Mathematical 

intelligence  
(D) Perceptual intelligence 

 87. fuEu esa ls dkSu xkMZuj ds cqf) fl)kUr esa 

cqf) dk ,d izdkj ugha gS\ 

(A) laxhfrd cqf) 

(B) Hkk”kkbZ cqqf) 

(C) rkfdZd&xf.krh; cqf) 

(D) izR;{kKkukRed cqf) 

88. In Maslow’s hierarchy of need, 

second level of need is? 

(A)   Esteem 

(B) Love and belonging 

(C) Safety 

(D) Physiological 

 88. ekLyks ds vko’;drk vuqØe esa f}rh; Lrj 

dh vo’;drk gS\ 

(A) lEeku 

(B) izse vkSj tqM+ko 

(C) lqj{kk 

(D) ‘kkjhfjd 
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89. The sound of the bell in Pavlov’s 
experiment is- 
(A)   Unconditioned stimulus  
(B) Unconditioned Response 
(C) Conditioned stimulus 
(D) Conditioned Response 

 89. ikoyko ds iz;ksx esa ?k.Vh dh vkokt gS& 

(A) v&vuqcfU/kr mn~nhid  

(B) v&vuqcfU/kr vuqfØ;k 

(C) vuqcfU/kr mn~nhid 

(D) vuqcfU/kr vuqfØ;k 

90. At what stage dress the child 
perceive inanimate objects as 
living? 
(A)   Pre conceptual stage 
(B) Intuitive stage 
(C) Stage of concrete operation 
(D) Stage of formal operation 

 90. fdl voLFkk esa ckyd futhZo oLrqvksa dks 

ltho le>rk gS\ 

(A) iwoZ&izR;;kRed voLFkk 

(B) vUrnsZ’kh; voLFkk 

(C) Bksl lafØ;k voLFkk 

(D) vkSipkfjd lafØ;k voLFkk 

91. An example of learning is- 

(A)   Secretion of saliva by dog 

after seeing food 

(B) Secretion of saliva by infant 

after seeing food 

(C) Swimming of dog 

(D) Swimming of infant 

 91. lh[kus dk ,d mnkgj.k gS& 

(A) Hkkstu ns[kdj dqÙks }kjk ykj 

fudkyuk  

(B) Hkkstu ns[kdj f’k’kq }kjk ykj 

fudkyuk  

(C) dqÙks dk rSjuk 

(D) f’k’kq dk rSjuk 

92. The teacher has to teach 
mathematics to the student, the 
knowledge of educational 
psychology is necessary for the 
teacher because by this he- 
(A)   Will be able to know the 

student 
(B)  Will be able to know 

mathematics  
(C)  Will be able to know the 

teaching skills 
(D) All of the above 

 92. v/;kid dks Nk= dks xf.kr i<+kuk gS] 

v/;kid dks f’k{kk euksfoKku dk Kku 

vko’;d gS D;ksafd blls og& 

(A) Nk= dks tku ldsxk 

(B) xf.kr dks tku ldsxk 

(C) f’k{k.k dkS’ky dks tku ldsxk 

(D) mijksDr lHkh 
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93. Which gland is called the ‘master 

gland’? 

(A)   Pituitary Gland 

(B) Adrenal Gland 

(C) Thyroid Gland 

(D) Sex Gland 

 93. fdl xzfUFk dks *ekLVj xzfUFk* dgk tkrk gS\ 

(A) ih;w”k xzfUFk 

(B) vf/kòDd xzfUFk 

(C) d.B xzfUFk 

(D) ;kSu xzfUFk 

94. Which hormones are called 

emergency hormones? 

(A)   Noradrenaline 

(B) Adrenaline 

(C) Insulin 

(D) Glucagon  

 94. fdl gkeksZULk dks vkikfrd gkeksZUl dgk 

tkrk gS\ 

(A) uksj ,fMªuSfyu 

(B) ,fMªuSfyu 

(C) bUlqfyu 

(D) Xywdkxku 

95. Into how many categories has 

Cattell divided dynamic traits? 

(A)   2 

(B) 16 

(C) 12 

(D) 3 

 95. dSVy us xR;kRed ‘khyxq.kksa dks fdrus Hkkxksa 

esa ck¡Vk\ 

(A) 2 

(B) 16 

(C) 12 

(D) 3 

96. Which statistical Technique is 

used to know the variable or 

dimensions of personality?   

(A)   Central Tendency 

(B) Correlation 

(C) Factor Analysis 

(D) Analysis of Variance 

 96. O;fDrRo ds pjksa ;k foHkkvksa dks tkuus ds 

fy, fdl lkaf[;dh; izfof/k dk iz;ksx fd;k 

tkrk gS\ 

(A) dsUnzh; izòfÙk 

(B) lglEcU/k 

(C) dkjd fo’ys”k.k 

(D) izlj.k fo’ys”k.k 
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97. According to all port, which of the 

following is not a disposition of 

personal traits?  

(A)   Rational Disposition 

(B) Control Disposition 

(C) Cardinal Disposition 

(D) Secondary Disposition  

 97. vkyiksVZ ds vuqlkj fuEu esa ls dkSu 

O;fDrxr ‘khy xq.kkas dh izòfÙk ugha gS\ 

(A) rkfdZd izòfÙk 

(B) dsUnzh; izòfÙk 

(C) izeq[k izòfÙk 

(D) xkS.k izòfÙk 

98. Who divided traits in to surface 
and source traits? 
(A)   Allport 
(B) Eysenck  
(C) Cattell 
(D) Kretschmer 

 98. ‘khyxq.kksa dks fdlus lrgh rFkk lzksr 

‘khyxq.kksa esa foHkkftr fd;k\ 

(A) vkyiksVZ 

(B) vkbZtsUd 

(C) dSVy 

(D) Øspej 

99. “Educational Psychology is the 
foundation stone is the preparation 
of Teachers.” This statement is 
given by-  
(A)   Crow and Crow 
(B) John Adams 
(C) Thorndike 
(D) Skinner 

 99. Þf’k{kk euksfoKku v/;kidksa dh rS;kjh dh 

vk/kkjf’kyk gSß ;g dFku fdlus dgk\ 

(A) Øks ,oa Øks 

(B) tku ,MEl 

(C) FkkuZMkbd 

(D) fLduj 

100. Teacher should study educational 
psychology so that he / she can- 
(A)   Understand the students 
(B) Make the learning process 

effective  
(C) Choose appropriate teaching 

methods  
(D) All of the above 

 100. f’k{kd dks f’k{kk euksfoKku dk v/;;u 

djuk pkfg, ftlls og& 

(A) Nk=ksa dks le> lds 

(B) vf/kxe izfØ;k dks izHkkoh cuk lds 

(C) mi;qDr f’k{k.k fof/k;ksa dk p;u dj 

lds 

(D) mijksDr lHkh 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  


